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2007 Trial School Certificate Test _ Section 1 N
‘ Dj:D 25 marks
Mathematics ' Class Answer the questions 1-25 in the spaces provided.
Student Nuniber
1 Giventhat 18x756=13608 and 9x[ |=13608, what is the value of [ ]?
Se ction 1 ' , 2 What is the perimeter of the following sliape?
: - ~8cin
6 em
25 marks £ 75 cm
Time allowed for this section is-30 minutes
13 em

Answer Questions 1-25 in the spaces
provided

Caleulators are NOT to be used it this

Section

There will be a short break between Section 1
and Section 2. : 3 Lewis starts to construct Z4BC by drawing interval 4B'. Use your
instruments to-construct this-angle if ZBAC =134 degrees.

4 Wiite the next munber in the sequence 2, 6, 14, 30; ...
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Celegte’s water tank hiolds 9000 litres of water when full. If the tank is 40%
full how many litres of water does it contain?
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Tlie stem and leaf plot represents the results achieved by 15 students in a
Matliginaties test.

3 (014

2 | 2446789
1] 2358
016

What i§ the rauge of marks acliieved by these students?

Robyn’s Internet connection has a speed of 400 kilobytes per second. She
needs to dowriload a 360 000 kilobytes video file. How many minutes will it
take to download this file? .

Mark the position of -2.4 with a cross (X ) on tliis number line.

A talii 1§ due to depatt at 6,40 pm: How long does Cameron have to wait for
the traii if the curiént time is 9.12 am. Give your atiswer in hours and
minutes.

10 Solve the equation 6+ % =10

1 A pair of jeans was originally marked at $90 is rediieed in price by 30%.
A furtlhier discount of 33 % % off the discounted price was.offered for cash

only. What price does the customer pay for the jeans if tliey pay cash?

12 276+23=12
What is the value of 276+2.37

)

13 Melissa spends a fotal of $480-as showi by the sector graph. How mucli does
slie save each week?

Fuooed
Petrol
Save
Rent

14 By how much is % greater. than %7
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15

16

17

4 cm

Sem

What i the value of sin8?
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19

Not to scale

Complete the table below, using the nile y =3x -2,

y 19 4

20

A cube has a surface area of 54 em’® . Calculate the length of each edge of

this cube,

- What is the view-of this solid from thie ditection of the arrow?

21

A spinuer is divided into four equal sections. Tlie sections are labelled using

the digits 1, 2 and 3. )
G0

V

Kelly makes the statement.
“The spinner is equally likely to stop on an even number.’

Explain Kelly’s statement,

A score was added to thie set of scores: 15, 18, 20, 22, 24, 26
The new mean is equal to 20,

What score was added?

Find the value of x i the diagram below.
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22 {(8.25x10"}=(3%x10°) = 25  Use your instruhents to construct an isosceles triangle AABC with side .
(Ansiver in seiiitific notation) lengths of 5 cfm, 5 em and § cm.

23 In the grid below draw a kite with an'area of 14 cm?,

24 Aline passes tlirough the points 4 (0,1) and B (2,0}.
y

Find the equation of the line 4B.




2007 Trial School Certificate Test

Mathematics

Section 2

75 marks

Time allowed for this section is
1 hour and 30 minutes

This section has TWO parts

Part A — Questions 26-80 55 marks
Part B — Questions 81-84 20 marks

Calculators may be used ifn this section

Do not commence Section 2 until you are
instrueted to do so
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Part A

Questions 26-80 55 marks

Use the Section 2 — Part A — Auswer Shieet for Questions 2680

Instructions for answering multiple-choice questions

= For Questions 26-75, select the alternative A, B, C or D that best answers the question.
Fill in the response oval cottipletely.

Sample: 2+4= (A)2 (B) 6 (C)8 K
AO B@ cO O

» If you think you have made a mistake, put a cross through tlie incorrect answer and fill in
the new answer.

A@ B CO DO

* If you change yourmind aud have crossed out what you considér to be the cotrect answer,
then indicate the correct answer by writing tlie word correct and drawing an afrow as

follows.
/c'orre'cf
A@® B@® cO pO
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Kayla works for three liours at ‘time and a half. She earis $72.00. Fitid her normal
lourly rate.

(A)  $16.00
(B) $24.00
(C)  $36.00

(D)  $324.00

A liouse contains four gitls, three boys and two adults. If one person is chosen at random,
what is the probability that the person is gitl?

@ 5
® 5
©
o 3

26 Arne was tequired to find the value of a. »
30
Stie started with 95° and in two steps correctly found. the value of a. Which types of
afigles could Anne have used?
(A)  Alternate and co-interior angles
(B) Corresponding and alternate angles
(C)  Altemate and corresponding angles
D) " Go-interior and vettically opposite angles
27 If 950 000=19.5%10", the value of n is
A 5
® 4 ‘
© 4 31
® 5 ’
28

The gragh that illustrates the solution of —4x > 8 is

The results of two Matliematics tests are displayed i tlie following box-and-whisker plot.
RTINS N { “Test |
: . . :

[ '|—4Test2
. RN

0 20 40 60 80

Whieli of the following statements {s correct?
(A)  Lowest score for Test 1 is 30

(B)  Highest score for Test 2 is 85

(Cy  Median for Test 1 is 50

(D) Range for Test 2 is 40

@y ettt O—t—t>>
-4 3 2 -1 0 1 2 3 4 - .
O T
O e
T AE T N e
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32

Not to sedle

3cm

The voluine of this triangular prism is

(A) 36emd’
B) 60 om’
© 2o

o 120 e’
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33 Ryan invested $800 at 7% per annum. The simple interest earned between
30 September and 1 January is

(A)  $4.67

(B)  $14.00.
(C)  $18.67
(D)  $56.00

34 Sx-A(x-2)=

Ay  x+2
B x-2
€ x-8
D) * x+8

35 A plane left at 10.15 pm and arrived at its destination at 2.35 pm the next day. How long
did it take for the journey?
(A) 4 liours 20 miuu‘tes
(B) 7 hours 40 minutes
() 16 hours 20 mitutes
(D} 19 Tiours 40 mifutes
36 Whicli two temperatures are closest to each other?
(A) ~7TCand —4°C
(B) -¥Cand4C.
(€). 3Cand 7C
D) 4 Cand4’C
37
S5cm
-
3em N Not to scale
7cm
The area of this figure.is
(A) I8em’
B) 2lem?
(€ 27em®
D) -35em’
38 The nuinber 0.000 635 written in scientific notation is

(A)  6:35x19™
B) 6.35x10"
(C) 6.35%x10°
®)  6.35%10°
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39 Ant energy company’s charges fot gas over a three-month period are shown in the table
below. ’
Fitst 750 MJ 1.3920 cents per MJ
Additional MJ gver 750 | 1.3330 cents per MJ
The Sandetson’s used 2500 MJ of gas i this period. The total cost of this gas is
(A $20.44
(B)  $33.33
(C)  $33.77
D) $41.54
40 Given v=u+at and v=25, a correct set of values for 1, a and ¢ is
(AY u=-5,a=10,t=3
By u=-5,a=10,t=-3
©) wu=5,a=-10,t=3
(D)  u=5,a=-10,=-3
41 Kara scored 90, 49, 90, 75, 65 and 56 in her Trial SC exams. Which of the following
measures would Kara prefér to tell her parents? -
(A) Meaii
(B) Mode
(C)  Median
(D). Range
42 Tlie arrow on this regular pentagon is s.pmi

~ whiich of the following is most likely

300 times: Each tesult is recorded as blue or
red. If the probability of each result is equal,

(A) 150 blue and 150 red
(B) 175 blue and 125 red
(C) 200 blue and 100 red
(D) 160 blue and 140 red

43 If x=16, whatis tlie value of 4x”%
4) 8
®B) 16
© 32
®) 64
44 Tle value of x is
B)  25°
B) 50° Not to scale
© 75°
(D)  100°
45

The diagram shows a triangular prisin witli a base edge of x en, a triangular height of y

cmi and & widthi of z ein. What is the volume of the prism il cubic centimetres?

(A) x+y+z
®)  x+y
©) xyz

-—Q)E
o =
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46 Benjamin takes out a loan of $40 000 over a term-of five years.
Montily repayments
Amount of Joan Term of loan
3 years | 4 years | 5 years
$10 000 $355 '$289 $251
$20 000 $710 | $577 | $501
$30000° | 31064 | $866 .| $752°
$40000 | $1419 | $1155 | $1002
$50 000 31774 $}444 $125%
How much interest will Benjamin pay over the term of the loan?
(A)  $1002
B) $s5010
(€) $20120
(D) $60 120
47 Jasmine is booked to leave on ant overseas flight on 3 July. She must pay her fare at least
15 days before departure. What is the date of the last day on which slie can pay her Fare?
(A)y 17 Juge
(B) 18 June
(C) 19 June
M) 20 June
48

The value of x is
(A)  6tand0

6
B
) tan 40
(C)  6sin40
6
D
®) sin40

2 2
49  FL
4 17
3x°
Ay 22
A =
' 3%’
B 2
B
155"
(& .
© =
15x
D
D) T
50  The figure.is a parallelogram,
What is the value of augle a?
Ay 18 Not to scale
. B) 42
(cy 74
(D) 88
51 The tree diagram shows all possible combinations for families with three children. The

probability of a three-child family consisting of two boys and one girl is

B
@ 3 P =g
B
® - o ="_,
B
© 3 B="__
® 3 G<2
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52 What is the correct tule for this table of values?
x|-3]-2|-110j1]2
y|-5|-3-1[11]3]5
(&) y=Ex4+3
B)  y=2x+l
(@) y=2x-1
D  y=x+l
53 The results of 4 speed camera on Green Road are recorded below.
Over the speed' limit Class Number of
(km/h), centre cars
1-5 3 40
6-10 8 25
11-15 13 20
16-20 18 10
21-25 23 5
Wihiat is the mean over tlie speed limit for this data?
(8) 8lmh
(B) 825 kin/h
() 8.75%km/h
(D) 13 kw/h
54

Notto scale

5

The dimensions of this figure are in metres. What is the area?

(A)  26m’
B) 4o0m’
© 64m
(D) 160 m?

55  Isabella decides to buy a car for $24 000. She has saved $6000 for the deposit and takes
* outaloan oyer two years for the balance. Tlie flat rate of interest charged is
12% per annum. The total amount of interest to be paid is
(A)  $1440
(B)  $2160
(C) $4320
(D)  $5760
56 The midpoint of the interval joihing (7,5) aud (9,1}
Ay L2
@ (13
©) 249
oy 82
-
57
Not to scale
45
Y B
What is the size of angle CAH to tlie nearest degree?
Ay 39
B) 42
© 48
(@) 51
V51 T,
58 Use your calculator to evaluate correct to 2 de¢imal places.
202
(A)  0.44
(B) 0.87
© 152
@Dy 153 ‘
12
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59
" Not to scale
The diagrain represents a triangle whicli is
(A)  obtuse angled and isosceles
(B)  obtuse angled and scalene
(C)  acute angled and isosceles
(D)  acute angled and scalene
60 Which expression lias x+ 35 as a factor?
(A)  5x+10
(B) x*+25
(©)  *+5x
D  5x*+25
61 David cliooses one ball at random from his golf bag. What is the probability of hirn not

choosing a ‘Maxfli’?

Type of golf ball

Quantity
B51 Impact 3
Maxfli 5
- Pinpacle 13|
1
Al i
VI
5
B 2
®) 21
1
C =
© 3
16
D =
o)y
13

62 In Gibson Avenue there are tliree high scliool students, four primary school students and
five preschool students. One student from Gibson Avenue is chosen at random. What is
the probability that a primary sehool student is chosen?

1

A —

@ 12
1

B 1

8) 3
ol
C -
© 3
2
D z
@) 3

63 12x% 445 =
A 3
B) 8
© 3
D) 8

64 Washing machine concentrate is sold in four different sizes. Which represents the best
buy?

(A) L5kgfor§7.40
B) 2 kg for $8.60
€) 25kgfor$11.10
D) 3kgfor$13.50
65 Ii the diagram 18 ¢cm

(A)
(B)
©
)

m=6cmn=9 cm
m="7"rem; n=10 cm
m=8cem,n=11cm

m=9cm,n=12 cm

Not to scale

m

10:.8 cm

14
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A lawn imower is advertised in this way.

John is considering paying cash or buying on terths. How mucli extra is paid by buying on
terms?

(A  §55

(B) $105
(€  $600
(D)  $655

66 69
y Not to scale
6 cm

Tlie above triaigles have the same perimetet. Wliat is the value of y in ceirtimetres?

A 6 '

®) 8

© 9

Do 10

70

67  2x3¥=

(A) 5x5

(B)  8x9

© ¥

o ¢
68 If m is ark &ven number thet the next largest even nuinber is -

@By m+l
B) m+2
(€) 2+l

(D) 3m

20 m Not to scale
22°
14 zZ

The diagram represerits a'rectangular block of land. The diagonal of the block is
70 metres long. The angle the diagonal makes with tlie side WZ is 22 degrees. The length
of XW to the nearest metre is

(A) 26
®) 27
© 28
® 29

15

16
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Line AB (¥ = x+1) and line BC (x =3) are drawn below.

y
A/v
B
Not.to scale
A C
/ x
Y

The area.of AABC , i1 square unlts, is

@ 4
B) 8
© 9
) 16

71 The following frequency table shows the results of a test out of 20. 74

The meanof this data ta the nearest Score (x) | Freq (f) Jx

whole number is 13 7 9

Ay 13 14 3

®) 14 15 .4

© 15 - 16 1

D)y 16 17 1

16 cm

72 4 - i = t

8cml 17 o3t 1 1 1 10 ciny L6 em

20 em
= I ‘ e H— e e
A B c

Whicl of the following statements is correct?

(A} Rectangle A is similar to rectangle C 4

(B)  Rectangle A ig similar to rectangle B

(C)  Rectdngle B is similar to rectangle C

(D)  Rectangle A, B and C are similar

75

73 Four circles of the same size are used to create thie shape bielow.

< .
< »

The diagram shows quadtilateral ABCD with £ABC =85", £BCE =130" and
ZBAC = /4CH =3x%".

What is the value of x?

Ay 10
B 15
© 30
Dy 43

12 cm
The circumference of the four circles is
(A) 127
(B)" 24
© 487
D) 96«
17

18
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Instruétions for Qiiestions 76-80

18-

Indicate whether eacli of the following is correct or incorrect.

) 2

3B) 8x

© 20x)
®my 1

76
*  Questiofis 76=80 contain options A, B, C or D. Each option 1miay be Correct or Incorrect. In
eacli question; one, two; tliree or four options may be Cotrect.
*  For Questiotis 76-80, {ill in tlie response ovals on the Section 2 — Part A ~ Answer Sheet to
indicdte whétlie options 4, B, C or D are Correct or Incorrect. You must fill in either the
Cotrect or thie Incorrest fesponse oval for each optiomn:
Correct  Incorrect
Sample: A 244 =442 A @ O 77
B 2-4=4-7 B O @
C  2X4=4x%2 C ® O
D 2+4=4+72 D O @

= Ifyou thik you liave made a mistdke, put a cross through the incorrect answer and fill.in
the new ainswer:

8 m

Indicate whether each of the followiing is correct or incorrect.

6
A bz
(A) cos T

Correct  Incorrect
o 6
A & 4 (B) tanb =3
* If you change your mind and have crossed out whiat you consider to be the correct answer, ) sina= 8
then indicate tlie correct answer by writing the word answer and drawing an arrow as 10
follows. 8
(D): cosg=-—
answer 10
Correct/” Tncorrect -
A B

AI - - 78

D

Which of the following statements about the diagonals of tliombus ABCD are correct or
ibcorreet?

(A)  The diagonals are.equal

(B)  The diagonals bisect each other

(C)  The diagonals intersect at right angles

(D)  The diagonals bisect the angles through which they pass.

19

20
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79 A-frequenicy histogram was created using the weight of 25 Year 10 students.

Numbgr of students

7

40-49

sos9 6069 7079 80-89
Weight (kg)

30:39

Indicate whether each of the following is eorrect or incorreet.
(A)  The class centre of 40-49 kg'is 44.5 kg

(B)  The modal class is 60-69. kg

(C)  The range is 39.

(D)  The median would be below 60 kg.

80 If x is a number between 16 and 21 and y is a number between 4 and 9, thei % tnust be a
Y

number between the following numbers. Indicate whether eacli of the following is correct
or incorrect.

(A 2% and 4
7

B) 1-and 10
9

© 54—1 and 5

D) 1% and 5%

21
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2007 Trial Schiool Certificate Test

Mathematics o (®)
Section 2 — Part B v Glass
Quéstions 8184 20 marks, [ | I I ' ! l ] I }

‘ Student Number

Answer questions in the spaces provided.

Marks
Questions 81 (5 marks) (c)

(a) On the number plane below, plot the points 1
A(-2,5)and B (4, 2)

o

~1

[=1

(d)

W

BN

s

i

[

Thie midpoint of the interval AB is M. Find the coordinates of M.

A line patallel to the y-axis passes through M and meets the x-axis at C.

What is the equation of this line?

Find the area of AMCB to tlie nearest square unit.

End of Question 81
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Questioins 82 (5 matks)

(8)

(b)

©

Not to scale

A hexagortal sign is-made by cutting four congruent triaugles from a square:

Caleulate tlie area of one of the triangles.
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Wliat is the area of the square ABCD ?

Calculate the area of the hexagonal sign PORSTU?

(@)

Use Pytliagoras’s theorem to calculate thie length of the side PQ.

Give your auswer correct to. tlie hearest centiinetre.

Calculate the peritneter of the hexagon PQRSTU.

Give your answer cofrect to the nearest centimetre.

End of Question 82
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) Marks Marks
Questions 83 (5 marks) © Questions 84-(5 marks)

Daniel works in a shop and earus $21.60 per hour at the normal rate. Bach week lie 1 Cathy 18 standing on a vertical cliff and observing a ship out to sea.
works 15 liours at the normal rate and 4 liours at time-and=a-half each week.

She is 90 metres ab level
(a) Calciilate Daniel’s weekly wage. 16 15 7V fietres above sea feve

Not to scale

(b)  Daniel aims to increase his weekly wage to $540 by working extra hours at 1
the riormal rats. How many extra liours must Daniel worle?

(¢) Daniel’s rate of pay incteased by 5%. What is his new houtly rate for normal 1 The angle of depression of the ship, B, from 4 is 40°.
fiours?
,,,,, L (a) Label the angle of depression on the diagtam above, 1
(b)  Calculate the distanee the ship is out to sea, x, to the nearest metre, 1

(d)  Daniel has saved $6000 to buy a new car. He lias decided to invest the $6000 2
itra term deposit for tliree years at 8% p.a. compounding annually. How mucli
interest will Daniel earn in this account? Give answer to (lié nearest cent,

End of Question 83




e
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(c)  The sliip is travelling out to sea at a speed of 18 km/h. How far will the ship
e vut to geadiftet 1 ifiihute?
Give youf dif§wef & the nearest metre.

()] Cathy estiiates tlie angle of depression of thie ship; B, from 4 after 1 minute
to-be less than 15°,

Do you agree wi th Cathy’s estimation? Justify your answer, showing
mathematical caleulations.

2

1

End of Question 84 '

End_‘of Paper
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2007 Trial School Certificate Test

Mathematics

Section 1

Class
I Tt

Student Number

%\/\bf\\«o\f\ Clrov\.

25 1narks
Time allowed for this section is:30 minntes

-Angwer Questions 1-25 in the spaces

provided

Caleulators are NOT to be used in this
Sectioh

There will be-a short brealt between Section 1
and Section 2. ‘

2007 TRIAL 8OF « NEWINGTON GOLLEGE MATHEMATICS o SECTION 1

Seotion 1 o .
25 marks ‘ ,
Answer the questions 1-25 in the spaces provided.
: 75l
1 Giventhat 18x756=13608 and 9x[ |=13.608, what Is the value of [ |? o
« ' ot 2
56 viweofd & 1512, N
A ! 4
152,

2 What is the perimeter of tlie follswing shiape?

8 etn
6 v
: G .
25¢em
13 tf)l_n .
p= i?—_fbrl%**l“‘y’-&é’*B;ﬁ/
= _58 Ch

3 Lewisstarts to eonstruct Z4BC by drawing interval 4B". Use your
Instrutrents to-constret this-angle if ZBAC =134 degrées.

o
7
AV
, d
A B
. @ & /é"
4 Write the fiext number in the seqience 3, 6,’74‘,‘ 30; ...

20x2 +2 /.
=62/
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15

16

17

18
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4cm

‘What i the value of sin8?

3om

Not to scale

cn 0= 2
=

Complete the table below, using the rdley =3x ~2

x . 7 .2

4

y 19 4

o

this cube,

/.

A cube has a surface area of 54 em” . Calculate the length of each edge of

. ‘What is the view of this solid from thie ditection of the artow?

- lecH of edgy 2B L

S

19

20

21

A spinner is divided Into four equal sections. Tle sestions are labelled using

the-diglts 1,2 and 3. &
ol
, V
Kelly makes the statement.

“The spinner is equally likely to stop en an even number.’

Explain Kelly's statement.

Tuis staserment e, because the dhance 0{ A gyinner sboypisg
on 2. ( consisk of 2 epun) cclions) o qc/, 7 -4 fle e

of W (erdungy o L 2% & Qo SO/ (vt?(/‘of bonses of 2 efus!

s U Xt N s
qa&w\ﬂ - WS (S-trve Lael@ uoe, a&cﬂ»f_ed:b/w\ Ao Qs g anpal

)
A score was added to the set of scores: 15, 18,20, 22; 24, 26
’i‘he new tmeat is equal to 20,

What seore was added?
7x20  l4o-(25,
=0 =19 / /

= Al nou Seove Was \S J

Filid the value of x in the diagram below.

(2x-) +30~90
D=0
=6y ./
x=22" ¥

s

(%

20
2L
2Up
2

P
25




oz - /z‘.’ + x & '24:)5_4'6\1

. . I —\—%fvl

gy aurf a1y 3o woyenba aryy puy

S0

PR

«
“(0'7) g pue (1°0) ¥ svyod oty yinowy sessedemy v pr

.

| "0 p] JO BayE U ik S1R] B MRIp mapqpEEemuy g

'/A 00 000¥TE

X N - et e
. DTS < 50000z,
orxtes + (E-578 ) O 0QQ005Z4

5 . N7 (uonIou AFNUATS Y Jomsyry)
- O3 S o! AT SRR AL RSRERY
Sy (; @ ‘?;) 5 =(01%E)~(,01%57'8) 1
. ‘-m 7 KO?!’?[’/ ﬂ//g:q

T TNOWLZ,  3DLLYWHHEVIN S5HT100 NOIONIAEN ¢ 0§ TVIIL 20D

"Hr0 § pue wa § ‘o ¢ Jo sqidus|
“OpISYIM DY S[BUBLY $2]00SGST B JONASUDS 0] SHUSUINISUY INOK 657}

1 NOILOES « $OLLVINEHLY N 8091160 NOLDNIMER » 13§ ‘f'wn:\“ .

'




2007 Trial Schopl Certificate Tast

Mathematics

Section 2

75 marks
Time allowed for this section is
1 lur and 30 minutes

This section liag TWO parts

Part A — Questions 26-80 55 inarks
Part B~ Questions 81-84  20-matks

| Caleulators may be used in this sectiofh

Do net commetce Sectioh 2 until you are
inatrueted to do go

-

207 TRIAL " ™ » NEWINGTON €QLLEGE MATHEMATICS » SECTION 2

Part A

Questions 26-80 55 marky

Use the Seetion 2 — Part A — Answer Slieet for Questions 26-80

Instriictions-for answering multiple-choice questions

For Guestitns 26~75, selest the alternative A, B, C or D that best answers the questior.
Flll fn flie response oval comtipletaly.

Sample: 2+4= (A2 (B) 6 ()8 (DY
A0 B@® ¢O bpO

If you think you have made a mistake, put a cross througlt the incorrest answer and fill it
the new answet.

A® @ cO . pO
1f you ehange your mind and have ergssed out what you censider to be the correct answer,

ther indivdte the cotrect answer by writing.the word cerrect and drawing an dtrow as

follows.
/c'orrecf
A@ B cO pQ

P
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.32 ‘ ' - 35 A plane left at 10,15 pm and arrived at its destination at 2.35 pm the next day. How long
3 did it take for the | ourney?

(A) 4 liours 20 minutes
{B) 7hours 40 minutes.

» 16 hours 20 mitutes

S . Not to setle: @) 19 hours 40 mifiutes
‘ 4em _
36 Whichi two temperatures are closest to eacly otlter?
Tom . PCand —4°C
(B) -3Cand4C.

. The volune of this trlangular prismis , : ) (€. 3Cand7C
ABD 35 p (D) 4Cand4C

(B) 60 om’ ' , 7

© TNoem’ ' 37

D) 120 em’

3 em|

Not to scale

Ryan invested $800 at 7% per anvum, The simple interest eamed bgtween .
*30 September and 1 January is ¢ 3 su0 nihy )

YT saer 07

fB;‘ 414,00 {T’jg" / yeav _ The area of this figure is
VA . O “—— ) g
T)  $18.67 ‘ ¥ 18 em
©)  $56.00 _ =14 _ @)  2lem?
€ 27em?
(D) .35em’
34 Sx—d(x-2)= EX-4X+T =
A  x+2 X+D _
B)  x-2 . 38 The number 0:000 635 written in scientifie notation i

© x-8 ‘ : /’ 6:35% 1074
v/’@- 148 ® 65%10°

© 635010
)y  635%10°
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39 Adenergy compaiy’s charges fot gas over a three-month period are shown in the table
bélow, ’

Fitst 750 MJ 1.3920 cents per MJ
Additional MJ over 750 | 1.3330. cents per MJ

The Sandetson’s used 2500 MJ of gas i this period. The total cost of this gas is

(A) 82044 Ou

(B) $33.33 ¥ 233075
J© sm .

(D) $41.54 , 111k

2007 \LSET « NEWINGTON COLLEGE MATHEMATICS « SECTION 2

43 If x=16, what is the value of 496%

) 8

1/ 16
© 32
®). 6

40 Civen v=u+at and v=25, 3 comrect set of values for v, a and ¢ s
‘/ n=-5, a=10,1=3
By u=-5,a=10,i=-3
(€) u=5a=-10,t=3
D) wu=5,a=-10,t=-3

44  The value of x is

/@ 250

B) 50° Not to scale
© 7
(DY 1pge

41 Kara scored 90, 49, 90,75, 65 and 56 in her Trial SC exams. Which of the following
mensures would Rara prefér tu tell her parents? -

A)  Medtt 70.52
(@) mods

(G Median

(D} Range

w72

i

42 The arow on fiis regular pentagon is sbun’
300 titnes: Bach result is recorded as blue or
red, If thié probability uf each result is equal,

~ whicli eftlie following is miost likely
(A) 150 blus and 150 red
S@ 175 blue anid 125 red Z
.
(C) 200 blue and 100 red 5
(D) 180 blye and 140 red

45

The dlageam shows a triangular prism witl a basg edge of x ef, a triangular helght of y
e and g widdi of z eftt. What is the voluite of the prism i cubje centimetres?
Ay  xtytz
By Aty
© =

/ xys.

® =
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52 What 18- tlig correet tule for this table of values?
x|-3|-2]-11011]2]3
y|-5|3|-1|1}3]5]7

(&) pEx4+3d
/ y=2x+1
(C) p=2x-1
O p=x+l

2007 LSCT s NEWINGTON COLLEGEMATHBMATICS ¢ SECTION 2

55  Isabells decides to buy a car for $24 000. She has saved $6000 for the deposit and takes
* outaldan oyer two years for the balance. Tl flat rate of interest charged is
129 prer annum. Tlie total amount of interest to be paid is

(A)  §l440
(B) 32160 . T IR ST
/@ $4320 - b
@y $5760

53 Tl results of 4 speed camera on Green Road are recorded below.

[ Gver the speed: limit Class - Number of
(km/hj_ centre |  ecars
1-5 3 . 40
610 8 25
=15 13 ' 20.
1670 A 18 10
2125 23 5

What {s thie mean over tlie gpeed limit for this data?
Ay 8 lka/ht
(B) 825 kil

©)) 875 ks
@ 131

56  The midpoint of the Inferval joining (7,5).and (9,1

&) (-1,2)
B 1y

© 24

© 62

54

Not to seale

ii'le dimensions of this figure are in metres. What is the area?

26 m*
{B) 40m’
© 64w’
(15) 160 m?

57

Naot to scale
45|

t
c 55 B

What i8 the size of angle CAH to tlie nearest degree?

Ay 39
B 42
€y 48

11

/B s
58  Uss-your calculator to evaluate fﬁ correct to-2 decimal places,

oxr

-1

(B) 0.87
€) 152
My 1.53 \

12
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69  Alawn inower is advertised in this way.

John is considering paying eash or buying on terhs. Hlow muoli extra is paid by buying on

66
Not to scale
6 ecm
Tlie dbove rianigles have the same perimeter. Wliat is the value of y in cehtimetres?
ay 6 '
@ 8
WO
o)y 10
67  2x3=
(A)  5x5
/ 8x9
© ¥
@y &

68 TF m is arh 6veit number thed the next largest even number is -
(B m+l
/ ‘ m+2
(&) IZm+l
™  3m

terms?
@ $55
J@y  sw0s
© 5600
@)  $655
70
¥ Y
{ J0 - Not to scalg
. - ) 220 < |

The diagram represerits a‘rectangular block of land, The diagonal of thie block is
70 taetres long, The angle the diagenal makes with tlie side. WZ is 22 degrees, The length
of XW to thie nearest metre is

/(@

® 2 y

15

© 28 : AT L
@ 29 e ??
Koo
16
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71 The following frequeticy table shiows the results of 4 test out of 20.

The mearof this data ta thie nearest Seore () | Freq (f) | J¥
whole number is 13 9 17
@ 13 TR
14 15 | 4 | bOo | &
© 15 16 | 1 o )
@y 16 17 1 1 v
72 1'6 o H
" 8cm, ) U ik 10 em. L6om
20 . d
B c
Which of the following staternients s correst? , v
(A} Rectaugle A s similar to rectangle € ‘ [" VI;E,Y
(B) Rectangle A i8 similar to rectangle B 2 \
;/ @ Rectangle B is similar to rectangle C 7 % o
(D)  Reotangle A, B and C are similar s 1 % b \”\\

3 Four eircles of the same size are used to creats the shape below.

¥

12 ¢em

The circutnference of the four ¢iroles is

Ay 12x
/ ' wl
© 48
(D) 9%

17

2067 TRIAL 8¢  NEWINGTON COLLEGE MATHEMATICS » SECTION 2

74 Lite AB (3= x+1yand line BC (x=3) are drawn below.

Y

A./V

B

% "Not 1o scale

R x
N
N

4 . Y

75 The diagraif stiows quadiilateral ABCD with £ZABC =85, £BCE=130" and
LBAC = 24CH = 3%,

Wit is the value of'x?
Ay 10
/@
© 30
(D) 43

18
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79 A frequency Iistogram was created using the weight of 25 Year 10 students,

o

an

A~

Number of stidents

1S3

7y

30-39 4049

50-59 60-59 [ 40-89
Weight (kg)

.Indicates whether each of the following is cotrect or incotrett.
The modal elass is 60-69 kg

o) The range is 39,
)SQ( Tlie median would be below 60 kg.

80 If x is a number Between 16 and 21 and y is a pumber between 4 and 9, then: % mustbea
y

number-between the following humbers. Indicate wltether eacli.of the following is earrect

or incorrect.
/ .
. A) 25 and 4
7 ‘
By 1—andl0
9
© zil and 5 1 o Z
’ A

(D) —1% and 5%

o

21
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2007 Trial ScHoaol Certificate Test

M ath e atics {6)  The midpoiht of the interval 48 is M. Find the coordinates of M.
- | (T 1] wz (2 )
Section 2 —Part B _ Class a4
Quéstions 81-84 20 marks, [IL LT = ( Z ) Z_)
' Stirdent Number (L/
Answer questions in the spaces provided. ) e ( |,2 —;)
o Marks
Questions 81 (5 matks) (¢)  Alibe paralle] to the y-axis.passes through M and meets the x-axis at C.
(1)  On tlhie number plane below, plot the points 1 What I3 the equation of this line?
A(-2,5)and B (4, 2) K= ‘ /
y .
ot
7 ' -
y 8 {d)  Find the area of AMCB to the nearest square unit.
A ok
TN ¥ l
(% = /5 o
T =25/
a Ay : l/\'
2 % Ue2) A= X2 93/
% I
:5:25 s
1
I T C 3 4 r 5
v

End of Question 81
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2007 TRIAL 5GT « NEWINGTON COLLEGE MATHEMATICS v" TIONZ

Qitestivins 82 (5 thaiks) ’ (d)  Use Pythagoras’s theorem to caleulate the lengtl of the side PQ.
' Give your aswer sorrect fo.tlie hearest centimetre.

2
20%40 =2/

' %2000

Nbt to seale - x: 4(,@72(%‘? }

= &5 enp %N agzt ()

(a) A hexagoal sign is-mads by outting four eongruent triangles from a.squate 1 .
Calculats tlie area.of one of the triangles. . (¢)  Caloulate the periineter-of the hexagon PORSTU.
N= 20 X0 ' Give your answer cotrect to thie nearest centimetre.
2 g4 . 5 (44 TA25ax4) HHOKZ)
- %0 7/ = 259-855¢
z -/ = 259 o [nearent em )
7 ‘ 7 .
= 40 om
(b)  Wliatis the area of the squars ABCD 7 1
_AR=%0 |
$0”_ /

End of Question 82

= bugo o™’

(c) Caleulate the area of the hexapoual sign PQRSTU?
(1= 6400~ (4K YD)
bu00- 160 /
L2840 (L&\v,(”

R

i
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Thie stiip 1§ travelling out to sea at a speed of 18 km/b. How far will the ship
Be out to-gea-after 1 iiitiute?
Give youf difwier 1 the niearest tietre,
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Cathy estimated tlie atigls of depression of the shipy B; ftom 4 after 1 inlnute
to ‘be less:than 15°.

Do you agree with Catliy”s estimation? Justify your answer, showiig
wmathematical ealeulations.
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End of Question 84  *

End,‘uf Paper
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